
Acutal Table
	
	0
	1

	
	REALISE
	PREVUE
	REALISE
	PREVUE

	
	NB
	
	NB
	diff
	NB
	
	NB
	diff

	0
	74,0
	
	0
	148,0
	0
	
	0
	148,0

	1
	0
	
	26,0
	122,0
	0
	
	17,0
	79,0

	2
	10,0
	
	178,0
	-96,0
	0
	
	15,0
	-289,0

	3
	725,0
	
	270,0
	876,0
	2,0
	
	18,0
	592,0

	4
	1013,0
	
	1797,0
	803,0
	7,0
	
	20,0
	-1000,0

	5
	1365,0
	
	692,0
	1018,0
	18,0
	
	33,0
	329,0

	6
	1172,0
	
	1314,0
	1326,0
	25,0
	
	34,0
	28,0

	7
	487,0
	
	1352,0
	-384,0
	0
	
	26,0
	-1762,0

	8
	882,0
	
	1343,0
	-1367,0
	0
	
	27,0
	-2737,0

	9
	0
	
	835,0
	-3599,0
	0
	
	25,0
	-4459,0

	10
	0
	
	335,0
	-4819,0
	0
	
	24,0
	-5178,0

	11
	0
	
	564,0
	-5766,0
	0
	
	24,0
	-6354,0

	12
	0
	
	1099,0
	-7477,0
	0
	
	12,0
	-8588,0

	Total
	5728,0
	
	9805,0
	
	52,0
	
	275,0
	


First step:

	
	0
	1

	
	REALISE
	PREVUE
	diff
	REALISE
	PREVUE
	diff

	
	NB
	
	NB
	
	
	NB
	
	NB
	
	

	0
	74,0
	
	0
	
	148,0
	0
	
	0
	
	148,0

	1
	0
	
	26,0
	
	122,0
	0
	
	17,0
	
	79,0

	2
	10,0
	
	178,0
	
	-96,0
	0
	
	15,0
	
	-289,0

	3
	725,0
	
	270,0
	
	876,0
	2,0
	
	18,0
	
	592,0

	4
	1013,0
	
	1797,0
	
	803,0
	7,0
	
	20,0
	
	-1000,0

	5
	1365,0
	
	692,0
	
	1018,0
	18,0
	
	33,0
	
	329,0

	6
	1172,0
	
	1314,0
	
	1326,0
	25,0
	
	34,0
	
	28,0

	7
	487,0
	
	1352,0
	
	-384,0
	0
	
	26,0
	
	-1762,0

	8
	882,0
	
	1343,0
	
	-1367,0
	0
	
	27,0
	
	-2737,0

	9
	0
	
	835,0
	
	-3599,0
	0
	
	25,0
	
	-4459,0

	10
	0
	
	335,0
	
	-4819,0
	0
	
	24,0
	
	-5178,0

	11
	0
	
	564,0
	
	-5766,0
	0
	
	24,0
	
	-6354,0

	12
	0
	
	1099,0
	
	-7477,0
	0
	
	12,0
	
	-8588,0

	Total
	5728,0
	
	9805,0
	
	
	52,0
	
	275,0
	
	


Second step :

	
	0
	1

	
	REALISE
	PREVUE
	diff
	REALISE
	PREVUE
	diff

	
	NB
	NB
	
	NB
	NB
	

	0
	74,0
	0
	148,0
	0
	0
	148,0

	1
	0
	26,0
	122,0
	0
	17,0
	79,0

	2
	10,0
	178,0
	-96,0
	0
	15,0
	-289,0

	3
	725,0
	270,0
	876,0
	2,0
	18,0
	592,0

	4
	1013,0
	1797,0
	803,0
	7,0
	20,0
	-1000,0

	5
	1365,0
	692,0
	1018,0
	18,0
	33,0
	329,0

	6
	1172,0
	1314,0
	1326,0
	25,0
	34,0
	28,0

	7
	487,0
	1352,0
	-384,0
	0
	26,0
	-1762,0

	8
	882,0
	1343,0
	-1367,0
	0
	27,0
	-2737,0

	9
	0
	835,0
	-3599,0
	0
	25,0
	-4459,0

	10
	0
	335,0
	-4819,0
	0
	24,0
	-5178,0

	11
	0
	564,0
	-5766,0
	0
	24,0
	-6354,0

	12
	0
	1099,0
	-7477,0
	0
	12,0
	-8588,0

	Total
	5728,0
	9805,0
	
	52,0
	275,0
	


Last step :

	
	0
	1

	
	REALISE
	PREVUE
	diff
	REALISE
	PREVUE
	diff

	0
	74,0
	0
	148,0
	0
	0
	148,0

	1
	0
	26,0
	122,0
	0
	17,0
	79,0

	2
	10,0
	178,0
	-96,0
	0
	15,0
	-289,0

	3
	725,0
	270,0
	876,0
	2,0
	18,0
	592,0

	4
	1013,0
	1797,0
	803,0
	7,0
	20,0
	-1000,0

	5
	1365,0
	692,0
	1018,0
	18,0
	33,0
	329,0

	6
	1172,0
	1314,0
	1326,0
	25,0
	34,0
	28,0

	7
	487,0
	1352,0
	-384,0
	0
	26,0
	-1762,0

	8
	882,0
	1343,0
	-1367,0
	0
	27,0
	-2737,0

	9
	0
	835,0
	-3599,0
	0
	25,0
	-4459,0

	10
	0
	335,0
	-4819,0
	0
	24,0
	-5178,0

	11
	0
	564,0
	-5766,0
	0
	24,0
	-6354,0

	12
	0
	1099,0
	-7477,0
	0
	12,0
	-8588,0

	Total
	5728,0
	9805,0
	
	52,0
	275,0
	



Problem of total :

	
	Total (0+1)
	0
	1

	
	REALISE
	PREVUE
	diff
	REALISE
	PREVUE
	diff
	REALISE
	PREVUE
	diff

	0
	
	
	
	74,0
	0
	148,0
	0
	0
	148,0

	1
	
	
	
	0
	26,0
	122,0
	0
	17,0
	79,0

	2
	
	
	
	10,0
	178,0
	-96,0
	0
	15,0
	-289,0

	3
	
	
	
	725,0
	270,0
	876,0
	2,0
	18,0
	592,0

	4
	
	
	
	1013,0
	1797,0
	803,0
	7,0
	20,0
	-1000,0

	5
	
	
	
	1365,0
	692,0
	1018,0
	18,0
	33,0
	329,0

	6
	
	
	
	1172,0
	1314,0
	1326,0
	25,0
	34,0
	28,0

	7
	
	
	
	487,0
	1352,0
	-384,0
	0
	26,0
	-1762,0

	8
	
	
	
	882,0
	1343,0
	-1367,0
	0
	27,0
	-2737,0

	9
	
	
	
	0
	835,0
	-3599,0
	0
	25,0
	-4459,0

	10
	
	
	
	0
	335,0
	-4819,0
	0
	24,0
	-5178,0

	11
	
	
	
	0
	564,0
	-5766,0
	0
	24,0
	-6354,0

	12
	
	
	
	0
	1099,0
	-7477,0
	0
	12,0
	-8588,0

	Total
	
	
	
	5728,0
	9805,0
	
	52,0
	275,0
	


addition
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